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T 1 Inmatrices (AB)™" =7 @By =2 Al -1 -1

B! (D) A" (©) A8 (B) B-1A-1 (a)
2. The solution set of Ix[=3 is “¢r SV |x|=3 2
0 D t3 © -3 (8) 3
3- The solution set of (x-2)2=4 is < erf¥(x-22=4 .
{2 6} (D) {-6.-2} (C) {-6,2} (B) 0.4} A

4- The line coplanar with a circle and
interseting the circle at one point only is called
normal line »13 (D) altitude {1 (C)
5- Factorization of x*-16 is

(x-2)(x+4) (D)
1

al is a surd of order

(x-4)x +4) (C)
& Va =
1
5 O 2 (C)
7- Point on the aixis does not lie in any
27y (D)

circle quadrant & (C)

8- .Area of square with side 'S' is

28 (D) 48 (C)
9- H.C.F. of 12pg and 8p2q is
4p%q (D) 4pq? (C)
+ saen = -10- Factorization of 2x2 - 3x is
x(2x - 3) (D) 3x-2x2 (C)
11- If (x - a) is factor of P(x), then P(a) = ?
0 # (D) a (C)
12- The solution setof |x-3[=5 is
{-8,2} (D) {8.2} (©)
13- (a+b)(a®-ab+bd)= ?
a®+b® (D) (@a-b? (C)
14- A straight angle contains
%" (D) 180" (C)
15~ The point in 4t‘h3quadrant has its ordinate
negative ¢ (D) 1 < (€)
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tangentiine (Wi (B) median ks (A)
..c"_u'f.-d’ x*-16 -5
(x-2)x+2) (B) (x-2)(x+ 2)(?!2 +4) (A)
1
-G K\/; - af FI,/L&" ,.,_'6
zero M (A)
b u:‘;gﬁf J(ﬂ;gq/i -7
plane (¢# (A) '
- b 16w 'S d’bﬁf d/ Wi -8
8¢ (g) $ (A

1 (B)

line L (B)

-~ ¥ 8p%q s112pq -9

4p%? (B) 4pq (A)
' e A 262 -3 10
2x2£3x (B) 0 > (A
K Pl@) e Ind 228 P(x) e (x-a) S 11
-a (B) 1 (A)
sir SV |x-3|=5_12
8,-2} (B) {-8,-2} (A)
@+b)@®-ab+b3) = 7 _13
(@+b)® (B) a®-b® ()
| et 20§ 5000 14
360° (B) - 270° (A)

e ldned SesTL o’uwd;;y .15

positive .t (A)

zere # (B)
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2- Write short answers to any SIX questions: (2x6=12)

If Ply) = 3y2 + -Z. = 9., then find P(0)

G

G-

iii- Simplify:  (v12 - v2)(+/20 - 32)

V- if Px) = x*+3x2 - 5x+9 , thenfind
P(x) for x =1

V- Find HCF. 3x%y2  12x%y* 15x%y2 by
factorization. |

vi- Find L.C.M. 2ab, 3ab, 4ca by factorization.

vii- Find the square rootof 16x2 + 24xy + 9y?

ii- Rationalize the deominator:

viii- Write down the angles g and h

Sy 3 fe (2
SectionI Jilo

PSP TS r )

-aé(/’;u,_z)ffé.-.mf(e) i 2

~Z¢# P(o) It P(y) = 3y% + % =9/ -i

-—% RN A »-ii'

EA) (12-V2)(20-342) i

x=19n P(x) = x*+3x2- 5x+9 /1 v
Zet Px) &

L87¥ 3x%y2, 12x2y4, 15}(.3)'2 =V
'éf}”f%k 24

gt s £9.3 ¢ 2ab, 3ab, 4ca v

Ak € 16x% + 24xy + 9y? i
é«f"? J Ui h s g _viii

4\
pte
(-2

+ ix- Write down the angdles e and f

3- Write short answers to any SIX questions: (2x6=12)
i~ Factorize: 2;;12 - bc—-"2ab+ ac
= ii- Factorize: 10x2 - 7x 12

V-1f P(x)=2x°-5x2+7x—7 . then find P(2)

V- Solve: m =5
vi- Solve:  3(2x-1) = 5(x-1)
3(x-2) < 2x+1
viil- Find he volume of ajcube of side 4 cm.

ix- The diagonal of a square is 14 cm find its area.

4- Write short answers to any SIX questions:
- Solve x2 _4x —12 = ( by factorization.
ii- Solve 4x(3x-1)-2=(2x-1)(5x+ 1) by

vii- Solve:

@2x6=12)

factorization.
2 3 4 01 5
ii-1f A={1 5 5|endB=|2 3 &
4 -2

4 9 3 1

&

S

:éw‘.g(;u;j;l] foe .ix

“Efelnfl i) 207 3
-ZU6fS 202 be- 2ab+ ac
E61E 10x2 - 7x- 12 i
ZE6A S 216p° - 343 il
Pn PR)=2x3-5x247x-7 /i v
-Zpk PR
ESS x-1=5 v
S 302x-1) = 5(x-1) i
EELS 3(x=2) < 2x+1 i
ot dom S e E L i
-’.é(}”.}} KUletd14em 768, Lix
- felrFLevr@) g 4
FESFend 2 _4x-12=0 -
f 4x0x-1D)-2=Q2x~1)(5x+1) i

S SE i
2 3 4 01 5
A=1 5 5| yB=|2 3 6|/ -i
493 [ 4 23

Ll -
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iv- Find the matrix products [ 4 _J [_ 1 3] 2 %A ~1)[-1 3] |
13 13

V- Find the determinant of matrix : f _g‘,)y gy : ? ! S -V
o K

=5 2 1[=] ps -5 2 {Ix 2 ’

vi- Writ ; = = 5 Vi

rite matrices [ 2, - 3] [y_ [_ 1] ' [ 5 - 3] [y] [_ 1] J
in the form of linear equations. @ P Ul Gk

wdem QU & L ik Ll sl Vi
S (1,00 8 U e i
e lebuen L (a,-b), (b, -8) b -ix

vii- Draw an equilateral triangle with length of each side 4 cm.
viii- Draw the location of point (1, 0) on number plane.
ix- Find the distance between pair of points (a, ~b, (b, -a)

(A alszpn 28LUws) Sectionll (w2

el

va+3-+a-3
5- (a) Rationalize: ———— o= LS = p p () 5
Ja+3++a-3 = S Ja+3++a-3 24
2 7 .2 2 2 R
() Simpliy: +ab+b L2 —ab+b e +ab+b o B ab+b G
a+h a-b ' a+b a-b
6- (8) If P(x)=x —kx?+3x+5 isdivided by x-1 ¢x-17 P)=x>~kx?+3x+5 S 8
i reainder is 8, the/find value of k. o NS N Y
®) i M= l, 2 , then find value of M~'M -é_{r}“d SMMIn M= L 2 S ()
3 4 3 4
e e e & B2 gy 22,2 x4 Gy
3576 | ' 4 36
(b) Solve x2_6x~3=0 bycompleting square method. ESfe3)plly Qf'f x2-6x—3=0 (&
8- (a) Constructa square whose one side is 5 cm. %5 b‘" ek Bk (L) -8
(b) Find the volume of circular cone with radius of iy J”ép"‘(g § () b F S ..{4 (&)
base 3 cm, altitude 10 cm. o X710 L K3 um K
9- (a) Sole the simultaneous equations by the matrix g Sf e F L5 g bl (L) _9
inversion method: 3x+2y=10
3x+2y=10 2y ~3x=-4
2y-3x=-4

(b) Show that the points A(4, -2), B(-2, 4) and C(5, 5)
are vertices of an isosceles triangle.
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1-  1- Area of square with side 'S' is et JEen 'S Fv G -1 1
) s? (D) 25 (C) 4S (B) s (A
2- The altitudes of triangle are Ll Lk 2
5 (D) non-collinear b(f/{ (C) collinear L3¢ (B) concurrent )@4 ,mg (A)
3- A straight angle cantains bt o ¥ ff“v,,l) -3
360° (D) 270° (C) 180° (B) 90° (A)
4 In matrices (AB)! = ? @Bt =2 s 4
Alst (D) slal (¢) B (B) A (A)
5- The solution setof [x| =3 is S |x|=35
{0} (D) {3} (C) {-3} (B) 3t A
6- H.C.F. of 12pq and 8p?q is -l ¥ 12pq 4 8pq -6
4p%q (D) 4pq? (C) 4p%e® (B) 4pq (A)
7- A linear polynomial is of degree et o€ G A Gk T
4 (D) 2 () 1 (B) 0 (A)
8 d=y(x,~ %)% +(y,~y,)* iscaled ol d=yx,-x)? +(,-y)? -8
collinear points b &3 7" (B) equalpoints b+ (A)
distance formula ,,5’ Kol (D) non-collinear points L@Jo’(’f /j )
9- Volume of a right circular cylinder is ety ,; § %k $o0ts $osf KT -9
g_mz (D) ar?h (€ mh ®) n—r;t—l A
10- @+b)?-(@-b)? = ? (a+b)?-(a-b)?” =7 10
aZ+b% (D) -4ab (C) 4ab (B) 2(a%+b%) (A
11- The solution set of (x-2)* = 4 is _4‘:...‘.{‘)’ ¥ (x-2)° =4 _11
{2,6} (D) {-6.-2} (C) {-6.2} (B) {0,4}- (A
12- Factorization of x3 - y3 is T f J X - y3 -12

kN +xy+ ) 0)  (x-yEE-xy+y) © -ne+xy+y) (B x-NE2+Y?) A

13- The number of angle bisectors in a triangie is -Jf Lot L Ugsls o &8> 13
4 (D) 3 (©) 2 (B) 1 (A

14- In a square matrix the numbr of rows and columns are -q_Jﬂ s Sude s usB Ut 6y 14
same UL (D) 2x1 (C) 3x2 (B) 2x3 (A

15- Any value of he equation which makes the equation -q.t}lkv( c oS et eon f ol o’( £ af s .15

atrue statement is called
variable | /.’."' (D) solution f/ (C) inequality :J:V/:f (B) equation «bl- (A)
113-(11)-221-49000
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2- Write short answers to any SIX questions: (2x6=12) e\ Loy 6) g -2
3 3
. 3 . .
i- If P(y)=ya+--}2’——my2+l , then find P(y) ‘ & y=23n P(y)=y4+§‘—§—--y2+l A
for y=2 -’{5("“’ P(y)
ii- R the radical sign from the d - Emetblhe 2y i
- Remove the radical sign from the denominator 75+ 7= - R sy >l -
ig N NE) V) 5 4
2 2
S -— < — + z oo
- 1f P(x) =x__5x_+§_ , then find P(1) -’:fgr}" P(1) 42 P(X) = 5——5-)(—2 S il
x+1 x+1
' 61.7 61.7
iv- Simplify: 168 b ‘g/i?,( 31658' b = -iv
12a3b°+20a°b* ' 12a3b°+20a°b
v- Find H.C.F by factorization 3x%?, 12x%y4, 15x°%2 “E e s LSE K 352 12584, 15552 v
vi- Find L.C.M by factorization 4ca, 2ab, 3ab -2{(}” J;',JW:J.;UJQ § 4ca, 2ab, 3ab  -vi
vii- Find square root 16x2+ 24xy + 9y> St O ¥ 1652 + 24xy + 9y il
viii- Find angle ‘e’ and 'f' ép""uﬂv T sl 'e ool viii

ix- In given figure write the pair of ULl J;t;v Gu,cl o Jﬁ Gf g -ix
alternative interior angles: : :Zﬁg(t Zusn L
p/m o =5
i q/ g r/4
> oy
3- Write short answers to any SIX questions: (2x6=12) -2:_5(/.-_41.2/"2.:.01’(6) £ c.cjf -3
i- Factorize: a%+a-3a2-3 EEUAS ara-3a2-3 i
i Factorize: 2x2+ 3x + 1 SRS 243k il
ii- If P(x) = x4 + 55° - 13x2 - 30, then find P(-1) § P In P =xt+5x3-13x2-30 /1 _ii
o
iv- Whether (x - 1) is a factor of 3x*-2x%+5%x -6 S d 76 3x* - 253 + 55 -6 G x-nY v
v- Solve: 3x+3(x+1) = 69 ZESS 3x+3(x+1) =69 v
. 2x+1 2x+1 .
vi- Solve: =1 Sz s =1 .vi
X+35 S s
vii- Solve: |x+1[=5 _ng [x+1f{=5 -vii
vili- In a right triangle with a = 3, b = 4, then find hypotenuse ¢ -a_{(ﬁ* c/iin b=4ca=3 (L&l Nt i
ix- Find the volume of a cube of a side 4 cm. AR 4EY S 2’.5(;9’(? Kol Ll Cix
(i’d/’)
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4- Write short answers to any SIX questions: (2x6=12) -,égj_-,uz/"&:.uur(e) £ c.(jf -4
i- Solve x2-4x-12 = 0 by factorization. ESSE S R -4x-12=0 i
ii- Solve 3x2-8x-3 = 0 by factorization. S i e -8x-3 =0 -ii
2 3 4 01 5 234 01 5
i-f A=[1 5 5| and B=|2 3 6], A=|1 5 5| yB=|2 3 6| -i
4 9 3 1 4 -2 49 3] 1 4 -2
then find A-B -y A-B In
-3 21[-1 5 ) -3 21[-1 5 .
iv- Find product of matrices [ _J [—l 3} _ér)".,/d’b ¥ 4 _J [_1 3} Urb v
-2 5 . -2 5
v- Find the determinant - a1 =
1 4 1 4
a —-b . a -b .
vi- Find transpose  C = ey C= -vi
¢c d ¢ d
vii- Draw a semicircle with diameter 4 cm and center at O Elbpo ity id Yy B [,Jlrj 4ecm 4 O // ~Vii
viii- Draw a triangle ABC in which Ul ABC &l _viii
mAB = 4.3 cm, mBC = 5.4 cm, mAC = 39cm
ix- Find the distance between the points (-1, 3) and (-2, -1) ..Ef.’,:(ﬁ" ol glpn £ (—1,3) 1 (-2, -1) b s -ix

(u}ﬁ. 4 L7 g A8l £) SectionIl (v o

(a) Solve (x- y)3 + 64 by using formula.

aZ + ab + b2 a2—axb+b2
a+b a-b
a2+b2+2ab+2bc+2ac

(b) Simplify:

(a) Factorize:

)

1 2
®d)If M = : -1
|:3 4] then find M™'M

(@)
(b)
(a)

Solve:

y—-6+ ﬁ =0
Solve x2-10x-3=0 by completing square method.

Draw a circle passing through the three vertices of an
equilateral triangle with length of each side 4 cm.
Find the volume of a cone with altitude 9 cm and
radius of base 6 cm.

Solve by inversion method:

(b)

(a)
x+y = 2
y=2+x
Show that he points A(2, 4), B(6, 2) and C(4, 3)
are collinear.
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(b)

2 2
-é/jgja + ab+b +

S e S il x-yP+64() -5

a’ - ab+b?
a+b a-b
_ZE$F S a®+b%+2ab+ 2bc + 2ac (L) -6

(&)

1 2]
oM MIs M = [3 4] S

ESS y-6+4y =0 7
ES G S 21052320 ()

A KEFAGU S & £ L (L) -8
bt e Ut urb S
J;l/‘f&“wg Sk d/f érlb'r% thug (b.a)
K556 Ul K eulf
B f ey LIS () 9
x+y =2
y = 2+x
C(4,3) » B(6,2) « A2, 4) b5 S Zhest (L)
.y, e% Ny



